/ Evolution of Populations Name: <é / Date:

e 1. Explain how natural selection led to thirteen species of Galapagos finch developing from one
% ™ common ancestral finch on the mamland of Ecuador. An example diagram would help!

/7{;?7%{@ a !wmv s AN z,» £ ﬁ‘ P b0 Gui T [/ands.
s '\

A é L Lo ] Sewwe ©
£ Gl = ity M rsucc M’ﬁ ot

On gfr @gﬁﬂ *m‘i o 7742 in“ranﬂw. wl epq,ggt:f W‘%F&f*@
1 m% Wi ol %f J
i bl adepktd Hak Chepes malce O ;
& Rewitn il ad mf gf s, !
- 2. Whatis duec’nonal (electioh ]éxplam an etc a grap fi : R
o/ ot | OM X e.»» variatem s

s LT e b cuersge
, V4 W COeekd N [Ax gy{—pemg ‘
S T yantion fo pecomd AR

; ? Lw o ey
3. In stabilizing selection, how does the ﬁtness of individuals at the center of the curve differ from the

individuals at either end?
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4. How does d1srupt1ve selectlon result in two distinct phenotypes (dlstlnct looking organisms)?
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5. What occurs during genetic drift?
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6. Explain what happens in gene ﬂow.
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7. You examine these two beaks: One is narrow and needlelike. The other looks
like a pair of pliers. What type of natural selection could have produced birds
with these two extreme types of beaks? Explain your answer.
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A Close Look at Darwin’s Finches

When Charles Darwin traveled to the Galdpagos Islands, he found a variety of species of
finches. Although each species was slightly different from the others, all the species were
related. None of the finch species he found were similar to finches on the mainland.
When Darwin saw such extensive diversity of species in a single group of birds, he
hypothesized that they all could have descended from a common ancestor. His
observations of these finches helped him formulate his concept of evolution.
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i on the island of each finch species. Look carefully at each species, and notice the dramatic
I difference among the beaks. Each type of finch has a beak adapted to its diet.

i Darwin’s finches are an example of adaptive radiation. Adaptive radiation is the

i émergence of many species from a common ancestor that was introduced to various new
‘ environments. For adaptive radiation to occur, the new environments must offer new
Opportunities and pose new problems of survival for the species. '
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1. Which of the ground finches illustrat &
toughest nuts and seeds? Explain your answer.

2. Study the insect-eating finches shown in the diagram. What can you infer about the

insects of the Gal4pagos Islands? Lyows fiv€ o beies
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